7. Сложные  уравнения .

48 : х = 56 - 48                       х : 3 = 140 + 70                       К х 2 + 1 = 17                             786 – ( х – 273 ) = 129
К + 337 = 37 х 9                     4 х К = 28 + 52                       120 + К х 3 = 375                       4 х ( К – 97 ) = 68
12 : х  = 20 – 16                     25 + х =83 – 54                       54 х  К  - 12 = 312                     ( 180 : К ) х 4 = 24
К : 3 = 72 – 66                        К -24 = 44 – 16                       48 + К х 36 = 156                      ( К х 16 ) : 8 = 80
42 : К = 7 х 3                          23 х К = 100 - 31                     18 + К х 10 = 78                        240 : ( 70 - К) = 10
75 : К =17 + 8                        28 х К = 36 + 20                       15 х К + 80 = 125                     120 : ( 25 - К) = 10
К – 5 = 2 х 6                           40 – К =  72 : 9                         34 х К – 12 = 260                     7 х ( К : 3 ) = 56
42 : К = 63 : 3                        55 – К = 18 + 19                       К х 6 + 27 = 75                          270 + ( К – 380 ) = 520
470 – К = 65 : 5                     К + 220 = 280 х 2                     240 – К х 3 = 90                       ( 708 – К ) + 130 = 500
К х 6 = 72 – 36                      32 : К = 64 : 8                           15 х К – 11 х 7 = 13                 ( 90 – К ) + 60 = 150
7 х К = 100 – 51                    К : 6 = 21 : 3                              К х 8 + 120 = 280                     460 + ( К – 137 ) = 583
К : 6 – 36 = 24                       К х 5 + 80 = 690                         К : 3 – 18 = 12                          ( К + 36 ) – 42 = 18
К : 12 + 109 = 211                ( 24 + К ) х 2 = 72                       68 : ( К + 15 ) = 4                     ( К – 300 ) + 260 = 750
( 340 + К ) – 160 = 840                             ( 3 + 5 ) х К = 40                                12 х К + 60 = 18 х 6
